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e (= ) 2B
Dim Sean(100, 100) As Integer, Check(100, 100) As Integer

Dim Xlong As Integer, Ylong As Integer, X As Integer, Y As Integer
Private Sub Run_check()

Dim L As Integer

Dim Wrong As Boolean
Wrong = False

For X =0To 100
ForY =0 To 100
Check(X,Y)=0
Next

Next

For X =0 To Xlong
Check(X, 0) =1
Check(X, Ylong) =1

Next

For Y =0 To Ylong
Check(0,Y)=1
Check(Xlong, Y) =1

Next

For X =1 To Xlong - 1
ForY=1To Ylong - 1
If Sean(X, Y) = 1 Then
Check(X,Y)=2
End If
Next

Next
For L=1 To (Xlong - 1) * (Ylong - 1)

For X =1 To Xlong - 1

ForY=1To Ylong - 1
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If Check(X, Y) = 0 Then
If Check(X - 1,Y) =1 Or Check(X + 1, Y) =1 Or Check(X, Y - 1) =1 Or Check(X, Y + 1) =1 Then
Check(X,Y) =1
End If
End If

If Check(X, Y) =1 Then
If Check(X - 1, Y) =0 Then
Check(X-1,Y)=1
End If

If Check(X + 1, Y) =0 Then
Check(X+1,Y)=1
End If

If Check(X, Y - 1) = 0 Then
Check(X,Y-1)=1
End If

If Check(X, Y + 1) =0 Then
Check(X, Y+ 1)=1
End If
End If

Next
Next

Next

For X _count =1 To Xlong - 1
ForY_count=1 To Ylong - 1
If Check(X_count, Y_count) = 0 Then
Wrong = True
Exit For
End If
Next
If Wrong = True Then
Exit For

End If
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Next

For X =0 To Xlong
For Y =0 To Ylong
Print Check(X, Y);
Next
Print

Next

Print Wrong

End Sub
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